## DATE SUBMITTED SUBMITTED BY

04/10/2019 COMMUNITY DEVELOPMENT DIRECTOR COUNCIL ACTION
PUBLIC HEARING REQUIRED
RESOLUTION

Agenda Item No. E-6

(X) ( ) **(**\*)

DATE ACTION REQUIRED

ABSENT:

04/17/2019

ORDINANCE 1<sup>ST</sup> READING ORDINANCE 2<sup>ND</sup> READING CITY CLERK'S INITIALS



## IMPERIAL CITY COUNCIL AGENDA ITEM

SUBJECT:	DISCUSSION	N/ACTION:			
		pt a Resolution suppo gestion Mitigation an			timely use of
DEPARTMENT IN	VOLVED: (	COMMUNITY DEVEL	OPMENT DEPARTI	MENT	
BACKGROUNI	D/SUMMARY	<i>(</i> :			
the Congestion 2021/2022. All adopted criteria la Technical Advisemissions reduct ICTC Technical	Mitigation an Imperial Valley ICTC sory Committed iton, and projection, and projection.	d Air Quality (CMA ley agencies were in ee. The adopted crit ect must be located ommittee has evalua	Q) Program for Fi structed to submit teria are as follow in or benefit a non ted and ranked ea	iscal Year 2019/ project listings s: transportation attainment or mach project. The	d out for project under 2020, 2020/2021 and based on the locally project, generate an aintenance area. The City of Imperial is Vallarta Avenue to
FISCAL IMPAC	T: \$431, <b>89</b> 7.2	20 in CMAQ funds.		ADMIN SERVICES SIGN INITIALS	15/
STAFF RECOM	MENDATIO	N:			
Adopt a Resolution s	supporting projec	t delivery schedule and tir	nely use of CMAQ.	DEPT. INITIALS	
MANAGER'S RECO	OMMENDATIO	N:		CITY MANAGER's INITIALS	
MOTION:					
SECONDED: AYES: NAYES:			APPROVED DISAPPROV	() ED ()	REJECTED () DEFERRED ()

REFERRED TO:

#### RESOLUTION NO. 2019-12

# A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF IMPERIAL APPROVING AN APPLICATION SUBMISSION TO OBTAIN FUNDING THROUGH THE FY 2019-2020 CONGESTION MITIATION AND AIR QUALITY PROGRAM (CMAQ)

**WHEREAS**, AB 1012 has been enacted into State Law in part to provide for the timely use of State and Federal funds; and

**WHEREAS**, the City of Imperial is able to apply for and receive Federal and State funding including Congestion Mitigation and Air Quality (CMAQ) funds for; and

**WHEREAS**, the City of Imperial desires to ensure that its projects are delivered in a timely manner to preclude losing funds for non-delivery; and

WHEREAS, it is understood by the City of Imperial that failure for not meeting project delivery dates for any phase of a project may jeopardize federal or state funding to the Region; and

**WHEREAS,** the City of Imperial will submit an application for Class II Bicycle Lane on Aten Road from Puerto Vallarta Avenue to Dogwood Road with an estimate project cost of \$431,897.20; and

**NOW THEREFORE BE IT RESOLVED**, that the City Council of the City of Imperial hereby agrees to ensure that all project delivery deadlines for all project phases will be met or exceeded, and:

- a. The opportunity for public comment was provided at a public meeting:
- b. Local funds in the amount of 11.47% from Circulation and LTA Measure D funds will be used to leverage the federal funds for the project;
- c. Project is consistent with circulation element of the agency's general plan planning process;
- d. Project is consistent with the adopted pavement management plan.

**BE IT FURTHER RESOLVED**, that failure to meet project delivery deadlines may be deemed as sufficient cause for the Imperial County Transportation Commission Policy Board to terminate an agency's project and reprogram Federal/State funds as deemed necessary.

**BE IT FURTHER RESOLVED**, that the City Council does direct its management and engineering staffs to ensure all federal and state-funded projects are carried out in a timely manner as per the requirements of AB 1012 and the directive of the City Council.

**THE FOREGOING RESOLUTION** was passed and adopted by the City Council of the City of Imperial, this 17<sup>th</sup> day of April, 2019.

AYES:	Signed:
NOES:	Robert Amparano, Mayor
ABSTAIN:	• •
ABSENT	

ATTEST	3	
Signed:		
	Debra Jackson, City Clerk	



# CITY OF IMPERIAL IMPERIAL VALLEY COLLEGE OFF-ROAD BIKE PATH

### ON THE NORTH SIDE OF ATEN ROAD FROM DOGWOOD ROAD TO PUERTO VALLARTA AVENUE

### February 27, 2019

Item		Est.		Unit	Total
No.	DESCRIPTION	Qty.	Unit	Cost	Cost
1	Mobilization, Bonds, General Liability Insurance, Workman's Compensation Insurance, Vehicle Insurance, Taxes, Permits, project signs and Miscellaneous Fees	1	L.S.	\$ 5,000.00	\$ 5,000.00
2	Implement Storm Water Pollution Prevention Plan (SWPPP), Dust Control Program	1	L.S.	\$ 5,000.00	\$ 5,000.00
3	Clear and Grub	1	L.S.	\$ 5,000.00	\$ 5,000.00
4	Earthwork (Excavate & Export)	1,650	C.Y.	\$ 11.25	\$ 18,562.50
5	Subgrade Preparattion	66,000	S.F.	\$ 0.56	\$ 36,960.00
6	Furnish, grade and compact Aggregate Class II Base	900	C.Y.	\$ 40.00	\$ 36,000.00
7	Asphalt Concrete	405	TON	\$ 120.00	\$ 48,600.00
7	Bike sign including installation	10	EACH	\$ 350.00	\$ 3,500.00
9	Striping	1	L.S.	\$10,000.00	\$ 10,000.00
10	Street Lights	31	EACH	\$ 7,000.00	\$217,000.00
9					
10					
11					
12					
13					
14					
15					
16					
17					
18					
19					
20					
				TOTAL =	\$ 385,622.50
		C	ONTIGE	NCIES 12%	\$ 46,274.70
			GRAI	VD TOTAL =	\$431,897.20